Equal 9 step grey scaling betweeb* ggn=17.9 andL*yo»=95.9, Yoret=0.4, normalisation greyU

L*0anF17.9,L%0aU=56.9,L* 0aw=96.0, Yoan=2.5, Yoa =249, Yoan=90.0,Coay=Yoaw: Yoan=36.0
L*taN=19.4,L*tau=57.0,L*taw=95.6, Y1an=2.8, Yau=24.9, tanw=89.0, Gay=Ytaw: Ytan=31.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]¥/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%g= 99 9%= 95, g%= 93 9'%5= 99, g'g= 98
L*cieLaB  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 102 *a AlL*la
1007 (e 90 10 90 10! 96 10 890 10 95.6
: 9.7 95
8 862 0875 685 0.754 859 0.873 67.8  0.875 86.1
: 9.7 9.5
45l (7 765 075 507 055/ 76.2 0.746 503  0.75 76.6
3 9.6 9.5
6 66.7 0625 36.3 0.386 66.6 0.619 36.1  0.625 67.0
1 9.6 95
@5 569 05 249 0256 57.0 0493 249 05 57.5
50+ 3 9.6 9.5
@+ 472 0375 162 0156 474 0.367 16.3  0.374 47.9
3 9.5 9.5
@: 374 025 98 0083 379 0.242 10.0  0.249 38.4
3 9.4 95
25*.2 277 0125 53 0032 285 0.119 5.6 0.124 28.9
; 9.0 9.4
.1 179 00 25 00: 194 00 28 0.0 19.4
oL :
. 1 feAtinn- Yoait Yoref
AL*1.=9.7 i=1,2,...,8) : normalisation: Yi,jy=Ypau 22 Orel.
Da ( ) a 2~ YoautYoref
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